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Question Solution 
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 y-coordinates of A and B are 
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Qn Solution 

3ii stationary value of y = 9 

corresponding value of x = −4 
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Qn Solution 

6a By remainder thm, subst. x = −2, 
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6b ( )( )3 2 22 3 29 30 3x x x x x q Ax B+ − + = + + +  

Compare coeff. of x3: A = 2 

Compare coeff. of x2: B = −3 

Compare coeff. of x: q = −10 

( )( )3 2 22 3 29 30 3 10 2 3x x x x x x+ − + = + − −  

          = ( )( )( )5 2 2 3x x x+ − −  

 

Alternative Solution: 
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 3 22 6 2x x qx− − −  
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 23 9 3x x q+ + +  
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Since 2 3x x q+ +  is a factor of 3 22 3 29 30x x x+ − + , 

  20 2 3 30 0x qx q− − + + =  

  −20 − 2q = 0 and 3q + 30 = 0 

   q = −10 
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Qn Solution 

7a Period 
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Alternative Solution: 

Midpoint of AC 
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 equation of the curve is 4.5cos 5
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Qn Solution 
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For stationary value, 0
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 stationary value of A = 1000 m2 (3 sf) 
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the stationary value of A is a maximum. 

 

9i gradient of PQ 

= tan 135 

= −1 (shown) 

 

9ii Subst. x = 2, y = 0 into y = −x + c 

c = 2 

 coordinates of P is (0, 2). 

Let coordinate of Q be (a, b). 
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 coordinates of Q is (4, −2). 

 

  



Qn Solution 

9iii Since PM ⊥ MR, 

gradient of MR = 1 
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9iv area of PQR 
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10a LHS 
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basic  = 14.477 

2 = 194.477, 345.523 

 = 97.2, 172.8 (1 d.p) 

 

 

 

 

 



Qn Solution 

11a LHS 

= QRT 

= SQP (s in alt. segment) 

= QSR (alt. s; PQ // SR) 

= RHS (shown) 

11b RTS = PTQ (vert. opp. s) 

RST = PQT (alt. s; PQ // SR) 

 RTS is similar to PTQ (AA similarity test) 
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Qn Solution 

13aii A = 2r  
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 rate of change of radius is 0.172 cm/s. 
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Qn Solution 
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When x = 2, y = 3 

Coordinates of A is (2, 3). 

subst.x = 2, y = 3 into 
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 coordinates of B is (0, 6). 
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Alternative solution: 
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